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' mmﬁaﬁaﬁ%@?w%v . ,W,Wﬁﬁm%mm'
w R+ W @RI S B) TR
(0 fg&= + 3l (0 &y + I © T (D) yult
, T e FET R PR E frepue o H ST © -
(A) g FHHA , a oy 8 Y
® 33 | A T8l H © frg © g
(© fRER & @ ol ‘
(0) A AT
s PrefaRed § PF daw AR T T 2
(A) g (B) =g
(© YR (D) TR
. i e ¥ P AN E 2
() TGEY 8 fgTg
(© Fgdfe (D) 3T
. =S A R ¥ wdueH o PR I
Hfg &1 A B
A) Srgdl (8) femufay
(©) HRAY (D) IR GERT

s iy @ g W@ ae” & foy 1@
3/ T BAN ?

) fafde (8) gfe
© faa (0) f3raoft
7 frefafiag § | TR KL T
(A) Tq (8) eTiTTS
(© faare (©) fyeiH
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11. Complete the following sentence :

The human body is like an engine. It

required fuel
(A) to work (8) to keep it going
(©) to run from

(D) to keep it on action

12 Fill in the blank by picking out the phrasal
verbs -
If you are not watching T.V.
{A) switch it on. (B) switch it off.

(C) take it off. (0) throw it away.

Direction: In Question nos. 13 to 14:
Give one word for the following sentence :

2 A hater of learning and knowledge
(&) Masochist (8) Misologist

{O Samaritan {D) Misogynist

i« A speech delivered without any previous

preparation
(A} Maiden (8) Novel
() Extempore (D) Obsolescent

rbirrectioini:]ﬁ Question nos. 15 to 16:

Complete the following sentences by selecting
the appropriate preposition to fill in the given
blank :

15 The greedy hanker the riches.
(4) on (8) round
(O) after (D) upon
16 He felt grateful his friend.
(A) for (E) under
) to (D) from

|
|

19.

20.

Change the sentence into passive voice :
| write a letter.
(A) A letter is written to me.

(B) A letter is written by me.
(C) A letter was written by me.
(D) A letter is written for me.

Choose the sentence with the right word
order :

(A) What is your favourite colour ?
(B) What your favourite colour is ?
(€) Is what your favourite colour ?

(D) Your favourite colour is what ?

Your brother is so rude, | don't like
(A) himself (B) his
(© he (D) him

Complete the sentence by selecting ‘a@’, ‘an’,
‘the’.

If an article is not required, mark ‘None’ as
the answer.

Have you got pen ?
(A) an (B) None
@ 3 (D) the

Page: 3
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Direction: In Questlon nos. 21 to 25: NECE AL 'H{')H 21 @{ 25
Which of the answer figure will follow the ﬁl'-"iﬁvlﬁgﬂ g gl 7 B A IR aﬂ?fﬁ

question figures in the following flve | o= 3{I<}>l\l & g Pl GTTTH? milﬂ 2 7 1
questions? 1 -

21 Question Figures : L1 g Gl
Ol@lT - [Olel
Answer Figures : 9w :migﬁnﬁ .
(A) ‘

[Z (8) LA (8)
{a] | % (D) () EQ (D)

Z Question Figures :

) [

2 Ge el
SINEIE SINEE
Answer Figures - - <
™ E (8) 5 () = () S
= K (©) S © A (o) S

Z Question Figures :

=SSkl

Answer Figures :

i (z (&) H ‘ ) @ | (8)
« E (o) | B (D) 0

23 g9q =

]
0l
A
Su

AN

(€

N

ﬁwp TR
|



24 Question Figures : 4 g ann‘% %
Answer Figures : i s
(A) (8) ‘ (A) (8)

X b4 | X
(© + (©) + (€) + (D) “l—

25 Question Figures : 25 g3H Wq;‘%ﬁ :
T | .
Ol& - -
Answer Figures : IR 3]1’:pf:c’réﬁ ;
Al

8) @ (A) @ (B) @
{e] & (D) @ Q) @ (D) @

)

% Which is the biggest award of India ? 2. YR P FI9 I8 [RER B 91 B 2
iA) Padma Shri (8) Bharat Ratna (A) geH N (B) YR ¥
10 Ashok Chakra (8} Padma Bhusan Q) 319 TH (0) TEH AT
Direction: in Question nos. 27 to 31: | Prde: U "l 27 9§ 31
in the given five questions find out the odd one ﬁp:rf?-rﬁga uE Wl H BH R ¥ e
from the group ‘ 77
2 27.
(A) Chair (&) Mat (A) FHHf (8) T
(O Table {0) Sofa © 75 (D) T
28 28.
(A) 18 (8) 12 (A) 18 (B) 12
6 )9 Q 6 (D) g

Wk uERE e ‘ Page: 5 487582
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28

(A) Al (B) EI

(© 10 (D) AE
30.

(A) WXYZ (8) BCDE

{€) RQPS (D) STUV

31.
(A) Crime : Punishment

(8) Punishment : Advocacy

(C) Courage : Success (D) Exercise : Health

Direction: In Question nos. 32 to 36:

29.

30.

31.

(8)

(A) Al EI

© 10 (D) AE

(A) WXYZ (8) BCDE

© RQPS (0 STUV

(A) Uy . TUS (B) QUE : dohlcld
(€ {89 : 9%adr (D) hpIRd : Ry

ey W@ 32 @ 36

L

32 In the code language ‘PINK’ is written as

‘NGLlI’, then‘IRON’ is written in same
language -

{A) GPML (B) PGLM

O MIGP (D) GPLM

32 If in a code language YZW is BAD, then the
code of ZXY would be -
(A) AGE (8) BAG

(C) None (D) EYE

In 2 code language “INVITE” is written
914229205 and “FORT” is written 6151820,
then “REMPO” is written in the same
language would be -
(A) 185141713

() 185131615

(8) 186131614
(D) 195141613

35 If RHYM = 9874, then LEADER = ?

(A) 451459 (8) 351459
(€) 352459 (D) 351469

- i Ir n b

|

i

i i L3 ¢

33.

35.

2 fg Pt Fibfas W F PINK &

NGLI’ forar <irar g, o Sd@Y wwr
TRON’ &I & forar Srgam 2
(A) GPML (8) PGLM
(© MIGP (D) GPLM
Hihlad W 7 Ife YZW 9 BAD §9aT

g, A ZXY ¥ 7 997 2

(A) AGE (8) BAG

© 579 & @15 & (@) EYE

fHel pewrar § “INVITE” &1 914229205
ferar S & SR “FORT” & 6151820
forar srar 2, @ S w1 § “REMPO”
B & forar srwm 2

(A) 185141713 (B) 186131614
(©) 185131615 (D) 195141613

gfe RHYM = 9874, @ LEADER = 2

(A) 451459 (B) 351459
(A 352459 (D) 351469
Page: 6 BE



3. If LUNAR =66, then JOLT will be -
(A) 47 (8) 67

() 57 (D) 96

37. The number of rights provided to Indian

people.
(A) 5 (8) 8
€6 (o) 7

If 1st January, 2008 is Tuesday, then what
day of the week lies on 1st January, 2009 ?
(A) Wednesday (8) Thursday

(€) Sunday (D) Monday

Diréction: In Question nos. 39 to 40:
Which no./letter will come in place of question
mark ?

% IS LUNAR = 66 &, o JOLT aar B8R

?
(A) 47
€ 57

(B) 67
(D) g6

ARA AFIRST @ ved qo IfReRT &
& 7 -

(A) 5 (8) 8
@ ¢ (D) 7

¥ gfe 1 TGS, 2008 B HIGER T
ar 1 OFa<, 2009 Bl HEE Bl
P @1 e 8rm 2
A FEaR (B) gewgfcar
© fyar D) JHaR

Prder: west W@ 39 R 40: *
79 e & WF ) e @ d@eEr
Mgy 2

|

|
|

33 21 } 3 30
10 ’

(A) 20 (B) 7

0 11 (D) 17
40. D

] F
(A) F (B) G
(€ N (D) L

41. Full name of Internet

(A) Essential mail
(8) International network
(©) Inter-com network

(D) None of these

. 20 | 3 | 30
0 | 2
(A) 20 (8) 7
€ 1 (D) 17
40. D
J | F
?
(A F (B G
© N (o) |
4. T B QR AH § -
(A QT wel

(B) SeTMA HAedd

(O $eR-bM Aedd (0 399 A P &

LV

Page: 7



= | [P v wE 42 @ 46
Direction: In Question afs N t: re.is definite | U o W A ROET & qfy 3R
| wing five qu ' /oTa] , ST U%
In the following % esr‘Onsotf Fetters/words seRiTal & a1 ai f’?}thrQ €, S FRiN
relation among fhe e P8° T ete the right |3 Rl TR TART E | RET ¢ oy
of the eft side of symbo! % 900t answwer ||alk ) SeR Riwedl ¥ W wE Ry TTeR
'side of this symb?l by picking o R
from the options :
. 42 grsfad : g‘ﬂTé PN 2
«2. Bible : Christian :: Quran : 7 A A (8) I
(A) Islam (8) Jain o
(©) Sikh (D) Hindu (© W %ﬁ
: D -~
s ACE:FHJ::KMO:? 43 ACE * FH] KMO(B) .
(A) TRP (8) PTR (A) TRP TR
(c) PRT (o) PQT (© PRT © pQT
24. 400:20::484:7 4. 400 : 20 :: 484 : ?
(A) 21 (8) 22 (A) 21 (8) 22
© 23 (D) 20 (€ 23 (D) 20
5 MNOP: PQRS :: EFGH : ? 4% MNOP : PQRS :: EFGH : ?
(A) LJHK (B) HUK (A) TJHK (8) HIJK
(O HIKJ (D) HJIK (© HIK] (0) HIIK
6. Lucknow : Uttar Pradesh :: Patna : ? 4. oYY 0 STR WY o YedT : 2
(A) Odisha (B) Bihar (A afeen (8) fgER
(O Haryana () Madhya Pradesh (@ gRgroy (D) Hey yeuy
7. What was the childhood name of “Gautam | 47. RIGL 9€ B 9Y9 HT A79 7 A7 2
(A) Mahesh (B) Brijesh (@ of -
(O Siddhartha (D) Gautam

T



jl')i;ectlon: In Question nos. 48 to 51:

Tl{k'féﬁﬁ e AT 48 9 51 ;
|

In the following questions, at the basis of any | feu v geai § frdy yomell & MR WX
method there are some equation are solved. | $% wHlevor ®al fby w0 & | 32l
Use the same equation for finding answer : l .‘-\qzﬂ—qﬂu] &I YART $¥vh Ifad IO E’lﬁfﬂ":
B i ) ] ' {
| |
8. 7%3%2=42 4.7 %3 *2 =42
6*4*3=72 6*4*3:72
5*¥5*4=100 5*5*4 =100
4*6*5=7 4*6*5=7
(A) 44 (8) 114 (A) 44 (8) 114
(© 120 (D) 25 © 120 (D) 25
@ 4*6=72 4. 4 *6 =72
81*5=225 81 * 5 = 225
9*?=147 9 * 7 = 147
A) 7 (8) 43 (A) 7 (B) 43
08 (D) 29 (c) g (D) 29
50 4*8*5=596 , 50. 4 * 8§ * 5 = 596
7*3*8=849 7*3*8 = 849
6*5*%2=763 6 *5 * 2 =763
3*1%4=> 3*1*4 =27
(A) 425 (B) 531 () 425 (B) 531
(C) 542 (D) 524 (C) 542 (D) 524
51. 9*7=32 .9 *7=32
13*7=120 13 * 7 = 120
17*9=208 17 * 9 = 208
19*11=>? 19 *1N=72
(A) 160 (8) 64 (A) 160 (B) 64
{©) 240 (D) 210 (© 240 (D) 210
52 Who gave the slogan of “Jai Jawan, Jai|52 &g GG, I feae &1 ART feaq
Kisan” ? fe=m 2
(A) Chaudhary Charan Singh (A e oror R
(8) Jawaharlal Nehru (B) FaTER AT -E®
(C) Lal Bahadur Shastri (€ T g8rgR HIEEI
(D) Indira Gandhi (D) gfe=y et
Page: 9 487582



R —— .53 A 55:

o - 55: fyde: we e 53 ¥ |

Direction: In Question nos. 53 to . | se@l ¥ 9 99 |

Select the word which can be made using thei few W;\T m 3 gEd i im HS\I:

| E]la(! 1 < aﬂaiw

letters of the given word. g o Eedl @ | |
I

53 CARPENTER = GARPENTER

(A) CARPET (8) REPENT (A} CARPET (8) REPENT
{C) PAINTER (D) NECTAR (© PAINTER (d) NECTAR

s« NEWSPAPER s¢. NEWSPAPER
(A) SWEET (8) SOUR (A SWEET (8) SOUR
{C) REPEAT (0) WASP (© REPEAT (D) WASP

55 EXAMINATION 55. EXAMINATION
(&) EXAMINER (8) NATIONAL (A) EXAMINER (8] NATIONAL
{O ANIMATION (D) ANIMAL (© ANIMATION  (® ANIMAL

b4

Shyam walks & m. towards East, then turns | 5. 3gmH = e P AR T URR fy
right and walks 9 m. Again he turns to his| 3R 6 Hlex @efl, R 98 TR iR e
left and walks 6 m. At what distance is he AR 9 Hex T, R T8 9] air el

now from his original point ? AR 6 A TAl, T TH U™ 9
(&) 21 m (8) 18 m fha T g W T 2
(©) None of these (D) 15m (A 21 #Aiex (B) 18 Hex
(O T & B T8 (D) 15 Hex
57 What is full form of PIN ?  PIN &1 q0f 9 @1 ¥ 2
(&) Post Index Number (A) IRe SeRg TwR
(8) Postal Index Number {B) cﬁm S@W TR

(0 Pre-index Number (D) None

O W3S9 /g7 (D) T B T

¥

When did “Constituent Assembly” formed ? |ss dAfqem e forar
() April 1946 (8) May 1946 R ;e o

W 3T 1946 () HE 1946
© S 1946 (0) JeTs 1946

(O June 1946 (B} July 1946

5% The capital of Nepal

. 59. JYTe NSPIGH
(A) Thimpu (B) Kathmandy (A) @TE? £ BICHITG
(T} Manila (D) Dhaka © e o

(D) GTehT

e —————

T
LRI -



fre & § a9 @ d@ @ g A @

« Which number among the following is ailsoA
term of the given series ? R
Series :3,6,18,72,(?) | B : 3 B 18 72, @)
(A) 288 (8) 144 I (A) 288 (8) 144
() 216 (D) 360 © 216 (D) 360
Direction: In Question nos. 61 to 63: frceM: 999 &1 61 9 63:
in the  following3 questions some|| | feu ¢ &9 uw=i H $O I</AIHH

‘words/orders are given in random manner.

2y v § o orafed § | 9= Add HH
¥ yaRerd &Ifay -

§Arrange them in meaningful order :

61. 1. Curd 2. Butter 3. Milk 4. Cow
(A) 4,3,1,2 (8) 4,321

€ 4,1,3,2 (0)1,3,2,4

62. 1. Rainbow 2. Rain 3. Sun 4. Happy 5. Child
(A)2,3,1,5,4 (8) 2,1,4,3,5
) 4,23,5,1 (D) 1,3,5,2,4

g3 1. Key 2. Door 3. Lock 4. Room 5. Switch on
A)1,3,245 (8) 4,2,1,5,3

©5,1,2,4,3 ©1,2,3,5,4

6. What is the minimum age to be Prime

Minister of India ?

(A) 21 years

(B) 35 years

(€) 30 years (D) 25 years

{Direction: In Question nos. 65 to 66:
"Find the odd one in the series :

65. Series : 8, 14, 26, 48, 98, 194, 386
(A) 14 (8) 98

(C) 48 (D) 194

6. 0,1,3,6,10, 15, 21, 28, 37,45 |
(A) 10 (8) 37 |

|

|

€0 (D) 45

61. 1, Q&I 2. AFEH 3. gY 4. Y
(A) 4,3 1 2 (B) 4, 3, 2, 1

€ 4,1, 3, 2 D 1, 3, 2, 4

1, gguY 2. 9ui 3. g4 4. JI 5. gl

62.

(A) 2, 3,1 5, 4 B 2 1 4,3 5
© 4 2 351 (D135 2 4
63 1. Pl 2. Ex@Al 3. dldl 4. O 5.
@t
(A) 1, 3,2 4,5 (B) 4 2 1,5, 3
(D) 1, 2, 3, 5, 4

€ 5,1 2 4, 3

YR & HGHEA & & fog _Haw

64.
IR R & ?
(A) 21 a9 (8 35 a4
(© 30 Ty () 25 qY

fd9E: U |1 65 | 66:
Ao ToAd 9 / 49 § -

65. U : 8, 14, 26, 48, 98, 194, 386

(A) 14 (8) 98
(€ 48 (D) 194
8. 0, 1, 3, 6, 10, 15, 21, 28, 37, 45
(A 10 (B) 37
@ o (D) 45

I

Page: |1



67

68

70

“World Population Day” is celebrated on
A 11t gyuly (8 27 August

© 27% july (©) 215 July

Gulbadan Begum was daughter of -
(A) Aurangzeb (8) Humayun

(€) Babar (D) Shahjahan

- Where did Mahaveer born ?

(A) Rajgeer (8) Pawapuri

{©) Patliputra (D) Vaishali

Who is present President of India ?
(A) Dr. Rajendra Prasad

{8) Ramnath Kovind
(© Pranab Mukherjee
(D) Mrs. Pratibha Patil

“Good Friday” is related to -
(A) Last food (B) Birth of Jesus

(Q) Jesus ki Sooli (D) Rebirth of Jesus

Arun runs faster than Alias but less than
Dinesh. Dinesh ran faster than Chandar but
less than Vikram. Who ran fastest toall ?

(A) Arun (8) Chandar

(S Vikram (D) Dinesh

> What is the S| unit of heat ?

(A) fahrenheit

(O) celsius

(8) joule

(D) watt

67.

68.

69.

70.

71.

72.

73.

“freg Gl fead” &d HAl Sar @

;?A) 1 q;(;n'—g (8) 27 T
€ 27 q@n’g (D) 21 f}ﬁ”g
g | gar o - _

() aRToE @l (B) gATY !
(©) qrar B (D) TMESTEl &
ETAR H S Hel gl AT 2

(A) IR (B) grarget

(©) ureeiiga (D) gemett

URA & goAT i B § 2
(A) Si. Yo uNre (B) ATy @ifde

Q) yorg HRgSi
@) sfiFct gfewr difea

TS Wisy o wwfg € -

(A) 3ifom Ao B) AT BT T
© <8 B PN 0 S P g
X, Uferard a1 <ear & frg Ry
ﬁwaﬁlﬁﬁawﬁéﬁaﬁw%‘,
o faem fom a9 98 | waw ow
B Srear § 2

(A) 3101 (B) T=x

© s (D) fa=rer

SH BT ST A5F '

) BRTETEe (8) e

(© Hfewgy (D) gfe

Page: 12 o
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74.

75

76

79

The components of Atom Nucleus -
(A) Electron and Proton

(8) Electron and Neutron
(©) Proton and Neutron

(p) Proton, Neutron, Electron

The valley of flower isin -
(A) Kerala

{8} Jammu and Kashmir

(c) Uttarakhand (D) Himachal Pradesh

IfST-OP=8thenSP-0T="?
(A) 3 (8) 2

o (0) 11

When did “Swachchh Bharat Mission”
begin?

(A) 274 October 2014

8 117 September 2014

© 5% October 2014

D) 5% September 2014

When does
celebrated ?

(A 4% June

“World Environment Day”

(8 5% June

© 8™ March (0) 14tk September
Find the missing term of the series from the
given options :
Series: U, 0,1,?,A
(A) S

©C

(8) G
(D) E

74.

75.

76.

77.

78.

RHEATYG & Gqd & -

(A) gorae@ 3R We

®) gz IR SR

© e &R =g

() Tef, =g iR o
Pt &) oraRerd ¥ -

(A) FA (B S 9 HER
€ ITRETS (D) fRHrEe U<wl
afg ST - OP = 8 @ SP - OT =
(R 3 8) 2

© o (®) 1

"W WRd ATE” $ Ywend B9 TS 2
(A) 2 Jacax 2014 (B) ¢ RyR 2014

(@ 5 JEgax 2014 (0) 5 RyT=R 2014

“Ivg ygiaRor feaq” &9 HAm@r 9T § 2
A 4 7 B) 5 S
© g "y D) 14 fHa=R

A $ g e @ Ry T fAeed 7 |

T

Bl ©

s U, O, 1, 2, A

(A g ) G

© C o E

Page: 13 —



8 Which disease is caused by virus ?

b

(A) Measles

{©) Smallpox (0) AIDS

(8) All of these

80

If in code language ‘A’ is written as 2, ‘B’ is 3, | 81

then in same code “FACE” is written -

(®) 6357
{0) 7246

(R) 6245
Q) 7346

Which disease is caused by deficiency of!82

iodine ?
(A) Anaemia (8) Beri-beri
{C) Rickets {0) Goitre

Find out the right option :
a_c_bca_c_bc_bc
&) ababa {8) bbaab

{C) babaa {D] babab

Find out the right option :
abcz_bcaab_ca_bbc b
(A) ccaz (B) bbaa

Q) abac (D) abba

The longest bone of body is -
A Femur (8) Radius

{0 Tibia {0} Ulna

(1L —

|

—_—

83.

85.

qraed A el aren € -
(A) @O (8) 3

© Jd (0) TsH

afe fedl pewr d A @1 2 fora i

& g @ 3, d gl ¥R “FACE”
gt pevmyr # da ferar s 2

(A) 6245 (B) 6357

(€) 7346 (D) 7246

R 1021 A O O e i < 1 O 1 21 4 = !
&2

(A) IaqceftordT (8) Y-

© g (D) ey

g fReey &1 Tg= HfT -
a_c_bca_c_bc_bc

(A) azbaba (8) bbaab

(© babaa (®) babab

e fAewed & Ta7 Hifvg
abca_bcaab_ca _bbc b

(A) ccaa (8) bbaa
(© abac (®) abba
IR B qEH A=l BSEl © -
(A) HR (8) ITIg
@ i (D) 31T
Page: 14
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4

pirection: In Question nos. 86 to 89:
in the following questions, three objects name|

is given, they may be inter-rel
\group of objects, matches with the diagram A,
B, C and D. Study the diagram and answer the

‘questions -

83

90.

T ——
| ' i 1
i 1

Hindu, Scholar and Muslim :

(A) (®) @O
© (D © (JHo

Nurse, Doctor and Human being :

" 8o

® O O

"%

Animal, Mada and Cow :

(A) @O (B) @
(© @ (D) OOO

Rail, Bus and Taxi :
(B)

w O O
O
“ @)

X @

When did third battle of Panipat held ?

(A) 1763
(€) 1760

(B) 1762
(D) 1761

\51

ated or not. Each‘

87.

88.

89.

90.

() @ (D)

I Bl AR dSTS BE ®S 2

(A) 1763 §. H (B) 1762 3. H
© 1760 §. 0 1761 5. |
Page: 15




“Panchayati Raj” began
(A) In 1879 (8) In 1959

(© In 1952 (©) In 1947

indian National animal is -
(A) Cow (8) Elephant

(©) Deer (D) Tiger

Who is called “"Punjab Kesari” ?

&) Sardar Vallabhbhai Patel
(8) Lala Lajpat Rai

{0 Swami Dayanand

(©) Subhash Chandra Bose

Which is not leap year from the following ?
A} 1896 (8) 1500

(©) 1904 (D} 1580

Saina Nehwal is related to which game ?
(&) Badminton {8) Boxing

Q) Chess {D} Tennis

In which city Shahjahan built Moti-Masjid ?
(&) Fatehpur Sikri (B} Jaipur

C) Agra (D) Delhi

IfA means +
B means -
C means
D means +
then what will be find after solving series ?
(1O0C4)A(4C4)B6
(&) 46

() 60

(8} 50
(D} 56

e~
-

02

| 93

1 L L L

96.

97.

:l]r]]?]\‘n NEYK ‘ﬁ)[ ywm gg -

W 1979 (B) 1959 H

(© 1952 H ©) 1947 ¥
i A a9 E -

(A) Ty (8 grdt

(© fRRor (©) are

wiatrd hadl” R wEl Il & 2

(A) FGR dToAVHTS deed

(8) SATAT ATAIT [T

© @t earde (0 gauEs 99

Frefoled § & & & o9 99 T 2 2

(A) 1896 (8) 1900

(© 1904 (D) 1980
- el Agard B A [P Wl ¥ e
87

() Jefreq (8) YfdrT
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38. The blggest desert Ofthe WOfIdiS" 98. fa"ga T W Il prroire g\' -

(A) Thar (B) Sahara (A) 9 (8) g1
(€) Gobi (D) Kalahari © M (D) FHTATET
% 1,4,2,86,24,22,88,(?) .1, 4,2 8, 6 24, 22, 88, (?)
complete the series. ofy 11[{[ Y|
(A) 154 (8) 352 (A) 154 (B) 352
(c) 86 (0) 90 (€ gg (D) gp
100. Kautilya wrote - 100. PIERY 3 TG BT -
(A) Atharvaved (8) Ramayana (A) arordae (B) AT
(€) Arthshastra (D) Manusmiriti © s (0) ATy
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